
 2500 

 1
07

2 

 3014 
 2

37
6 

A

DETAIL A

SCALE 1 : 5

1 INCH BALL VALVE
ISOLATION FOR DISPENSOR

2 INCH BALL VALVE
(LOCKABLE)

LEVEL Rev:

DO NOT SCALE, USE DIMENSIONS. ALL DIMENSIONS ARE IN mm
DESCRIPTION

DRAWN

SCALE: 1:30
A3

SHEET SIZE

REV DRAWN DATE PARTICULARS

 

© POLYMASTER GROUP

ALL TOLERANCES UNLESS OTHERWISE STATED 10mm / 1

MATERIAL
PRODUCT CODE

COLOUR
DRAWING No.

161 KARINE STREET
SWAN HILL. VIC
3585
Ph. (03) 5033 9000
Fx:  (03) 5033 0224A RF 28/03/2023 INITIAL RELEASE

----
- ---

- - --
----
----

A

-
DSW9500-DK
DSW9500 - DISPENSER KIT

RF A2 128/03/2023



5 6

11107 9812

1

3

4

2

ITEM NO. PART NUMBER QTY.
1 PIUSI CUBE 56-12V 1
2 RS-40X20-M8X8F 2
3 M8 Head Head Bolt [Length Varies] 2
4 M8 Plain Washer 2
5 M10 Plain Washer 2
6 M10 Head Head Bolt [Length Varies] 2
7 4810T146 1
8 2 Inch Nipple SS 1
9 2 Inch to 1 Inch Nipple SS 1
10 1 Inch Brass Ball Valve 1
11 DSW2525M+F - swivel fitting 1
12 DSW-DK-CONHOSE^DSW9500-DK [DISPENSOR KIT] 1

LEVEL Rev:

DO NOT SCALE, USE DIMENSIONS. ALL DIMENSIONS ARE IN mm
DESCRIPTION

DRAWN

SCALE: 1:15
A3

SHEET SIZE

REV DRAWN DATE PARTICULARS

 

© POLYMASTER GROUP

ALL TOLERANCES UNLESS OTHERWISE STATED 10mm / 1

MATERIAL
PRODUCT CODE

COLOUR
DRAWING No.

161 KARINE STREET
SWAN HILL. VIC
3585
Ph. (03) 5033 9000
Fx:  (03) 5033 0224A RF 28/03/2023 INITIAL RELEASE

----
- ---

- - --
----
----

A

-
DSW9500-DK
DSW9500 - DISPENSER KIT

RF A2 228/03/2023


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 5)

	Sheet2
	Drawing View6


